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Tooth System Pressure Angle ¢, deg Addendum a Dedendum b
Full depth 20 1/P or m 1.25/P or 1.25m
1.35/P or 1.35m
225 1 /P or m 1.25/P or 1.25m
1.35/P or 1.35m
25 1/P or m 1.25/P of 1.25m
1.35/P or 1.35m
Stub 20 0.8/P or 0.8m 1/P  orm
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Coarse 2,21, 23,3, 4,6, 8, 10, 12, 16
Fine 20, 24, 32, 40, 48, 64, 80, 96, 120, 150, 200

Preferred L 1:25; 15,2, 25; 3: 4; 5, 6; 8; 10, 12, 16, 20,°25, 32, 40, 50
Next Chotee | 1.125, 13715, 1.75,.2.23, 2.13, 33,45, 3.3, 1, 9, 11, 14,18, 22. 28, 36,45
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A spur gearset has a module of 6 mm and a velocity ratio of 4. The pinion has 16 teeth.
Find the number of teeth on the driven gear, the pitch diameters, and the theoretical
center-to-center distance.
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A 17-tooth spur pinion has a diametral pitch of 8 teeth/in, runs at 1120 rev/min, and
drives a gear at a speed of 544 rev/min. Find the number of teeth on the gear and the
theoretical center-to-center distance.
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